id:17 level: O
26: COC1 C2C3C4
C5C6C7C8C9C10
Cl12 C13C14 Ci15C1le C17
C18 C19 C20 C21 C22 C24
C27 C28 C29
281: C0_=_C1( COC1)C0O =C2(C0C2)C0O =C3(C0C3)C0O0 =cCc4(coca)co =ch(cocech)
CO = C6(CO0C6)CO =C7(COC7)C0O =C8(COC8)CO =C9(C0C9)CO =C10(COCI0)CO = C13(C0C13)
CO = C14(C0C14)C0O = C15(C0C15)C0O = Cl16(C0C16)C0O = C17(C0OC17)CO = C18(C0OC18)CO = C20(CO0 C20)
CO = C21(C0C21)CO = C22(C0C22)C0O = C24(C0OC24)C0O = C27(CO0 C27 ) CO = C28(C0C28)C0O = C29(C0C29)
Cl = C2(C1C2)C1 =C3(C1 C )C1 = C4(C1C4)Cl1 =C5(C1C5)C1 =Ch(C1C6)C1 =C7(C1C7)
Cl =C8(C1C8)C1 =0(C9(C1C9)C1 =cC10(C1C10)C1 =_cC13(C1C13)cC _= C14(C1C14)C1 = C15(C1C15)
Cl = C16(C1C16)C1 = C17(C1C17)C1 = C19(C1C19)C1 = C20(C1C20)C1 = C21(C1C21)C1 = C22(C1C22)
1 =C24(C1C24)C1 = C27(C1C27)C1 _=_C28( C1 C 8)C2 = C3(C2C3)C2 =C4(C2C4)C2 =C5(C2C5H)
C2 = C6(C2C6)C2 =C7(C2C7)C2 =C8(C2C8)C2 =C9(C2C9)C2 =C10(C2C10)C2 =C12(C2C12)
C2 = C14(C2C14)C2 = C15(C2C15)C2 = Cl16(C2Cl16 ) C2 =_C 7(C2C17)C2 = C18(C2C18)C2 = C20(C2 C20)
C2 = C21(C2C21)C2 = C24(C2C24)C2 = C27(C2C27)C2 = C28(C2C28)C2 = (C29(C2C29)C3 = (C4(C3C4)
C3 =C6(C3C6)C3 =C7(C3C7)C3 =C8(C3C8)C3 =C10(C3C10)C3 =C12(C3C12)C3 =C13(C3C13)
C3 = C14(C3C14)C3 = C15(C3C15)C3 = C17(C3C17)C3 = C18(C3C18)C3 = C19(C3C19)C3 = C20(€C3C20)
C3 = C21(C3C21)C3 = C22(C3 C22 ) C3 = C24(C3C24)C3 = C28(C3C28)C3 = C29(C3C29 ) C4 = Co6(C4Co)
C4 =C7(C4C7)C4 =CI9(C4C9)C4 =C10(C4C10)C4 =C12(C4C12)C4 =C13(C4cC13)C4 =cC14(c4c14)
C4 = C15(C4C15)C4 = C17(C4C17)C4 = C18(C4C18)C4 = C19(C4C19)C4 = C20(C4C20)C4 = C21(C4C21)
C4 = C22(C4C22)C4 = C24(C4C24)C4 = C27(C4C27)C4 = C28(C4C28)C4 = (C29(C4C29)C5 =Co6(C5C0)
C5 = C7(C5C7)C5 =C9(C5C9)C5 = C10(C5C10)C5 = C12(C5C12)C5 = C13(C5C13)C5 = C14(C5C14)
C5 = C15(C5C15)C5 = C19(C5C19)C5 = C20(C5C20)C5 = C21(C5C21)C5 = C22(C5C22)C5 = C24(C5C24)
C5 = C27(C5C27)C5 = C28(C5C28)C5 = (C29(C5C29)Cb = C7(C6C7)C6 = C8(C6C8)C6G = CI(C6CI)
Co = C12(C6C12)C6 = C13(C6C13)Cb6 = C14(C6C14)C6 = C15(C6C15)C6 = Cl6(C6C16)C6 = C18(C6C18)
C6 = C19(C6C19)C6 = C20(C6C20)C6 = C21(C6C21)C6 = C22(C6C22)C6 = C24(C6C24)C6 = C28(C6 C28)
6 = C29(C6C29)C7 = C8(C7C8)C7 =C9(C7C9)C7 =C10(C7C10)C7 = C12(C7C12)C7 = C13(C7C13)
C7 = C14(C7C14)C7 = C15(C7C15)C7 = Cl16(C7C16)C7 = C17(C7C17)C7 = C19(C7C19)C7 = C20(C7 C20)
C7 = C22(C7C22)C7 = C24(C7C24)C7 = C27(C7C27)C7 = C28(C7C28)C8 = C10(C8C10)C8 = C12(C8C12)
C8 = C13(C8C13)C8 = C14(C8C14)C8 = C15(C8C15)C8 = C16(C8C16)C8 = C17(C8C17)C8 = C18(C8C18)
C8 = C19(C8C19)C8 = C20(C8C20)C8 = C21(C8C21)C8 = C22(C8C22)C8 = C24(C8C24)C8 = C27(C8C27)
C8 = (C28(C8C28)C8 = C29(C8C29)C9 = C10(C9C10)C9 = C12(C9C12)C9 = C13(C9C13)C9 = C14(C9C14)
C9 = C15(C9C15)C9 = C16(C9C16)C9 = C17(C9C17)C9 = C18(C9C18)C9 = C19(C9C19)C9 = C20(C9C20)
C9 = C21(C9C21)C9 = C22(C9C22)C9 = C27(C9C27)C9 = C28(C9C28)C9 = C29(C9C29)C10 = C13(C10C13)
C10 = C14(C10C14)C10 = C15(C10C15)C10 = C16(C10C16)C10 = C17(C10C17)C10 = C18(C10C18)C10 = C19(C10C19)
C10 = C20(C10C20)C10 = C21(C10C21)C10 = C24(C10C24)C10 = C27(C10C27)C10 = C29(C10C29)C12 = C13(C12C13)
Cl2 = C14(C12C14)C12 = C15(C12C15)C12 = C16(C12C16)Cl12 = C17(C12C17)Cl12 = C18(C12C18)Cl12 = C19(C12C19)
Cl12 = C20(C12C20)C12 = C21(C12C21)C12 = C22(C12C22)C12 = C24(C12C24)C12 = C27(C12C27)C12 = C28(C12(C28)
Cl12 = C29(C12C29)C13 = C14(C13C14)C13 = C18(C13C18)C13 = C19(C13C19)C13 = C20(C13C20)C13 = C21(C13C21)
C13 = C22(C13C22)C13 = C27(C13C27)C13 = C28(C13C28)C14 = C15(C14C15)Cl14 = Cl16(C14Cl6)Cl4 = C17(C14C17)
Cl4 = C18(C14C18)Cl14 = C19(C14C19)C14 = C21(C14C21)C14 = C22(C14C22)Cl14 = C27(C14 C27)Cl14 = C28(C14 C28)
Cl4 = C29(C14C29)C15 = C16(C15C16)C15 = C17(C15C17)C15 = C18(C15C18)C15 = C19(C15C19)C15 = C20(C15 C20)
C15 = C21(C15C21)C15 = C22(C15C22)C15 = C24(C15C24)C15 = C27(C15C27)Cl15 = C29(C15C29)Cl6 = C17(Cl16 C17)
Cl6 = C18(C16C18)Cl6 = C19(C16 C19)Cl6 = C20(C16 C20)Cl6 = C21(Cl16C21)Cl6 = C22(Cl16C22)Cl6 = C24(Cl16C24)
Cl16 = C27(C16 C27)Cl6 = C28(C16 C28)Cl6 = C29(C16C29)C17 = C18(C17C18)C17 = C19(C17C19)C17 = C20(C17 C20)
Cl7 = C21(C17C21)C17 = C24(C17C24)C17 = C27(C17C27)C17 = C28(C17C28)C17 = C29(C17C29)C18 = C19(C18C19)
C18 = C20(C18 C20)C18 = C21(C18C21)C18 = C22(C18C22)C18 = C24(C18C24)C18 = C27(C18C27)C18 = C28(C18 C28)
C18 = C29(C18 C29)C19 = C20(C19C20)C19 = C21(C19C21)C19 = C22(C19C22)C19 = C24(C19C24)C19 = C27(C19C27)
C19 = C28(C19C28)C19 = C29(C19C29)C20 = C22(C20C22)C20 = C24(C20C24)C20 = C27(C20C27)C20 = C28(C20C28)
C20 = C29(C20C29)C21 = C22(C21 C22)C21 = C24(C21C24)C21 = C27(C21 C27)C21 = C29(C21 C29)C22 = C27(C22C27)
C22 = (C28(C22C28)C24 = C27(C24 C27)C24 = C29(C24 C29)C27 = C28(C27 C28)C27 = C29(C27 C29)C28 = C29(C28 C29)
25: C0C1 C2C3C4
C5C6C7C8C10cC12
C13C14 C15C16 C17 C18
C19 C20 C21 C22 C24 C27
23: COC1 C2C3C4 C28 C29
C5C6C7C8C9C12 259:C0 = C1,C0 =C2,C0 =C3,C0 =C4,C0 =2C5,
C13C14 C15C16 C17 C18 C0 = C6,C0 = C7,C0 = C8,C0 = C10 ,CO = C13 ,CO = C14
C19 C20 C21 C24 C28 C29 CO0 = C15 CO = C16 ,CO0 = C17 ,CO = C18 ,CO = C20 ,CO = C21
219:C0 = C1,C0 = C2,C0 = C3,C0 = C4,C0 = C5, CO0 = C22,C0 = C24,C0 = C27,C0 = C28,C0 = C29,C1 = C2,
CO = C6,C0 = C7,C0 = C8 CO_=_C9 CO = C13,C0 = C14, C1_=_C3 Cl = C4,C1 = C5, C1 = C6 C1 C7,Cl = C8,
C0 = C15,C0 = C16,C0 = C17 ,CO_=_C18 ,C0 = C20,C0 = C21, Cl = C10 ,C1_=_C13 ,Cl = Cl14 ,C1_=_C15 ,C1 = Cl16,C1 = C17,
CO = C24,C0 =C28,C0 =C29,C1 =C2,C1 =C3,C1 =4, Cl = C19,C1 = C20,C1 = C21,C1 = C22,C1 = C24 ,C1 = C27,
1=¢C5,C1 =C6,C1 =C7,C1 =C8,C1 =(C9,C1 =C13, 1 =0C28,C2 =C3,C2=C064,C2=C(C5,C2=2¢C6,C2=C7,
Cl = C14,C1 = C15,C1 = Cl6,C1 = C17,C1 = C19,C1 = C20, c2 =C8,C2 =C10,C2 = C12,C2 = C14,C2 = C15,C2 = C16,
Cl =C21,C1 =C24,C1 =C28,C2 =C3,C2 =(C4,C2 =C5, c2 =C17,C2 = C18,C2 = C20,C2 = C21,C2 = C24,C2 = C27,
C2=066,C2 =C7,C2=C0$8,C2=09,C2=2C12,C2 =C14, 2 =(C28,C2 =C29,C3 =C4,C3 =C6,C3 =C7,C3 =2C8,
Cc2 =C15,C2 = Cl6 ,C2 = C17,C2 = C18,C2 = C20,C2 = C21, c3 =C10,C3 = C12,C3 = C13,C3 = C14,C3 = C15,C3 = C17,
2 = (C24,C2 =C28,C2 =(C29,C3 =C4,C3 =C6,C3 =C7, C3 = C18,C3 = C19,C3 = C20,C3 = C21 ,C3 = C22,C3 = C24,
C3 =0$68,C3 =C12,C3 =(C13,C3 =C14,C3 = (C15,C3 = C17, C3 = C28,C3 = _C29 ,C4 = C6,C4 =C7,C4 =C10,C4 = C12,
C3 = C18,C3 = C19,C3 = C20,C3 = C21 ,C3 = C24 ,C3 = C28, C4 =C13,C4 = Cl14,C4 = C15,C4 = C17,C4 = C18,C4 = C19,
C3=C0C629,C4 =C6,C4=C7,C4=CC9,C4=C12,C4 =C13, C4 = C20,C4 = C21,C4 = C22,C4 = C24,C4 = C27,C4 = C28,
C4 = Cl14,C4 = C15,C4 = C17,C4 = C18,C4 = C19,C4 = C20, C4_=_C29 C5 = C6,C5 = C7,C5 = C10 C5 12 C5_ C13,
C4 = C21,C4 =C24,C4 = C28,C4 = C29,C5 = Co6,C5 = C7, C5 = C14, C5 = C15 C5_=_C19 Ch = C20 ,C5 = C21,C5 = C22,
C5 =09,C5 =C12,C5 = C13,C5 = C14 ,C5 = C15,C5 = C19, C5_=_C24 ,C5 = C27 C5_=_C28 ,C5 = _C29 ,C6 = C7,C6 = C8,
C5 = C20,C5 = C21 ,C5_=_C24 C5h = C28 ,C5 = C29,C6 = C7, C6 = C12,C6 = C13,C6 = C14 ,C6 = C15,C6 = C16,C6 = C18,
C6 = C8,C6 = C9,C6 = C12 C6_ = C13 C6_ - Cl4 C6_=_ 15, C6 = C19,C6 = C20,C6 = C21,C6 = C22 ,C6_=_C24 C6 = C28,
C6 = Cl16,C6 = C18,C6 = C19,C6 = C20,C6 = C21,C6 = C2 Co6 = C29,C7 = C8,C7 = C10 C7_= C12,C7 = C13,C7 = Cl14,
Co6 = C2 ,C6_=_C29 C7 = C8,C7 = C9 C7_—_C12 C7_—_C13 , C7 = C15,C7 = Cl16 ,C7 = C17,C7 = C19,C7 = C20,C7 = C22,
c7 = C14,C7 = C15,C7 = Cl16,C7 = C17,C7 = C19,C7 = C20, C7 = C24,C7 = C27,C7 = C28,C8 = C10,C8 = C12,C8 = C13,
C7 = C24,C7 = C28,C8 = C12,C8 = C13,C8 = C14,C8 = C15, C8 = C14,C8 = C15,C8 = C16,C8 = C17,C8 = C18,C8 = C19,
C8 = Cl6,C8 = C17,C8 = C18,C8 = C19,C8 = C20,C8 = C21, C8 = C20,C8 = C21,C8 = C22,C8 = C24,C8 = C27,C8 = (C28,
C8 = C24,C8 = C28,C8 = C29,C9 = C12,C9 = C13,C9 = C14, C8 = C29,C10 = C13,C10 = C14 ,C10 = C15,C10 =_ C16 ,C10 = C17,
C9 = C15,C9 = C16,C9 = C17,C9 = C18,C9 = C19,C9 = C20, C10 = C18,C10 = C19,C10 = C20,C10 = C21 ,C10 = C24 ,C10 = C27,
C9 = C21,C9 = C28,C9 = C29 C12 = C13 C12 = C14,C12 = C15, C10 = C29,C12 = C13,C12 = C14,C12 = C15,C12 = C16,C12 = C17,
Cl2 = Cl16,C12 = C17,C12 = C18 ,C12 = C19,C12 C20 ,C12 = C21 Cl2 = C18,C12 = C19,C12 = C20,C12 = C21,C12 = C22,C12 = C24,
Cl2 = C24,C12 = C28,C12 = C29,C13 = C14,C13 = C18,C13 = C19, Ccl12 = C27,C12 = C28,C12 = C29,C13 = C14,C13 = C18,C13 = C19,
C13 = C20,C13 = C21,C13 = C28,C14 = C15,C14 = C16,C14 = C17, C13 = C20,C13 = C21,C13 = C22,C13 = C27,C13 = C28,C14 = C15,
Cl4 = C18,C14 = C19,C14 = C21,C14 = C28,C14 = C29,C15 = Cl16, Cl4 = C16,C14 = C17,C14 = C18,C14 = C19,C14 = C21,C14 = C22,
Ccl5 = C17,Cl15 = C18,C15 = C19,C15 = C20,C15 = C21,C15 = C24, Cl4 = C27,C14 = C28,C14 = C29,C15 = Cl16,C15 = C17,C15 = C18,
Cl15 = C29,Cl6 = C17,Cl6 = C18,C16 = C19,C16 = C20,Cl16 = C21, C15 = C19,Cl15 = C20,C15 = C21,C15 = C22,C15 = C24,C15 = C27,
Cl6 = C24,Cl6 = C28,Cl16 = C29,C17 = C18,C17 = C19,C17 = C20, Cl5 = C29,Cl6 = C17,C16 = C18,Cl6 = C19,Cl16 = C20,C16 = C21,
Cl7 = C21,C17 = C24,C17 = C28,C17 = C29,C18 = C19,C18 = C20, Cl6 = C22,Cl6 = C24,Cl6 = C27,Cl6 = C28,Cl6 = C29,C17 = C18,
C18 = C21,C18 = C24,C18 = C28,C18 = C29,C19 = C20,C19 = C21, Cl17 = C19,C17 = C20,C17 = C21,C17 = C24,C17 = C27,C17 = C28,
C19 = C24,C19 = C28,C19 = C29,C20 = C24,C20 = C28,C20 = C29, Cl17 = C29,C18 = C19,C18 = C20,C18 = C21,C18 = C22,C18 = C24,
C21 = C24,C21 = C29,C24 = C29,C28 = C29, C18 = C27,C18 = C28,C18 = C29,C19 = C20,C19 = C21,C19 = C22,
C19 = C24,C19 = C27,C19 = C28,C19 = C29,C20 = C22,C20 = C24,
C20 = C27,C20 = C28,C20 = C29,C21 = C22,C21 = C24,C21 = C27,
21 = C29 ,C22 = (C27,C22 = C28,C24 = C27,C24 = C29,C27 = C28,
C27 = C29,C28 = C29,
id:19 level: 1
27:CO0C1 C2C3C4
C5C6C7C8C10C12
C13C14 C15C16 C17 C18
C19 C20 C21 C22 C24 C25
id:18 level: 1 C26 C27 C28 C29
24: COC1 C2C3C4 302: CO = CI(COC1)C0O =C2(C0C2)CO =C3(C0C3)C0O =cCc4(coca)co =ch(coceh)
C5C6C7C8C9C11 CO = C6(C0OC6)CO =C7(COC7)C0O =C8(COC8)CO —_ClO( C0C10)CO = C13(C0C13)C0O = C14(C0C14)
Cl12 C13Cl14 Ci15Cl1le C17 CO = C15(C0C15)C0 = C16(C0C16)CO = C17(C0OC17)C0O = C18(C0C18)CO = C20(C0OC20)C0O = C21(C0OC21)
C18 C19 C20 C21 C24 C28 CO = C22(C0C22)C0O0 = C24(C0C24)C0O = C25(C0C25)C0O = C26(COC26)CO = C27(C0OC27)CO = C28(C0C28)
C29 CO = C29(C0C29)C1 = C2(C1C2)C1 =C3(C1C3)C1 =C4(C1C4)C1 =C5(C1C5)C1 =Cb(C1C6)
242: CO_—_C1( COC1)C0O =C2(C0O0C2)C0O =C3(C0C3)C0O0 =cCc4(coca)co =cC5h(coch) Cl =C7(C1C7)C1 =C8(C1C8)C1 =C10(C1C10)C1 =C13(C1C13)C1 =C14(C1C14)C1 = C15(C1C15)
CO = C6(CO0C6)CO =C7(C0OC7)C0O =C8(COC8)CO =C9(CO0C9)CO = C11(COCI1)CO = C13(C0C13) Cl = Cl16(C1C16)C1 = C17(C1C17)C1 = C19(C1C19)C1 = C20(C1C20)C1 = C21(C1C21)C1 = C22(C1C22)
CO = C14(C0C14)C0O = C15(C0C15)CO = C16(C0OC16)C0O = C17(C0O0C17)CO = C18( C18) C0O = C20(C0 C20) 1 =C24(C1C24)C1 = C26(C1C26)C1 = C27(C1C27)C1 =C28(C1C28)C2 = C3(C2C3)C2 =C4(C2C4)
0 = C21(C0C21)CO = C24(C0C24)C0 = C28(C0C28)C0O = C29(C0C29)C1 =C2(C1C2)C1 =C3(C1C3) C2 = C5(C2C5)C2 =Ch(C2C6)C2 =C7(C2C7)C2 =C8(C2C8)C2 =C10(C2C10)C2 = C12(C2C12)

Cl =C4(C1C4)C1 =C5(C1C5)C1 =Ch(C1C6)C1 =C7(C1C7)C1 =C8(C1C8)C1 =C9(C1C9) C2 = C14(C2C14)C2 = C15(C2C15)C2 = C16(C2C16)C2 = C17(C2C17)C2 = C18(C2C18)C2 = C20(C2C20)

Cl = C11(C1C11)C1 = C13(C1C13) 1_=_C 4(C1C14)C1 = C15(C1C15)C1 = C16(C1Cl1l6)Cl = C17(C1C17) C2 = C21(C2C21)C2 = (C24(C2C24)C2 =C25(C2C25)C2 = C26(C2C26)C2 = C27(C2C27)C2 =C28(C2C28)
Cl = C19(C1C19)C1 = C20(C1C20)C1 = C21(C1C21)C1 = C24(C1C24)C1 = (C28(C1C28)C2 =C3(C2C3) 2 = C29(C2C29)C3 =C4(C3C4)C3 =CH(C3C6)C3 =C7(C3C7)C3 =C8(C3C8)C3 =C10(C3C10)

C2 = C4(C2C4)C2 =C5(C2C5)C2 =CoH(C2C6)C2 =C7(C2C7)C2 =C8(C2C8)C2 =C9(Cc20C9) C3 = C12(C3C12)C3 = C13(C3C13)C3 = CI4(C3C14)C3 =C15(C3C15)C3 = C17(C3C17)C3 = C18(C3C18)
C2 = Cl11(C2C11)C2 = C12(C2C12)C2 = Cl14(C2C14)C2 = C15(C2C15)C2 = C16(C2Cl16)C2 = C17(C2C17) C3 = C19(C3C19)C3 = C20(C3C20)C3 = C21(C3C21)C3 = C22(C3C22)C3 = C24(C3C24)C3 =C25(C3C25)
C2 = C18(C2C18)C2 = C20(C2C20)C2 = C21(C2C21)C2 =_C24( C2C24)C2 = C28(C2C28)C2 = C29(C2C29) 3 = C26(C3C26)C3 = C28(C3C28)C3 = C29(C3C29)C4 =C6(C4C6)C4 =C7(C4C7)C4 =C10(C4C10)

3 =C4(C3C4)C3 =C6(C3C6)C3 =C7(C3C7)C3 =C8(C3C8)C3 =C11(C3C11)C3 =C12(C3C12) C4 = Cl12(C4C12)C4 = C13(C4C13)C4 = C14(C4C14)C4 = C15(C4C15)C4 = C17(C4C17)C4 = C18(C4C18)
C3 = C13(C3C13)C3 = C14(C3C14)C3 = C15(C3C15)C3 =C17(C3C17)C3 = C18(C3C18)C3 = C19(C3C19) C4 = Cl9(C4C19)C4 = C20(C4C20)C4 = C21(C4C21)C4 = C22(C4C22)C4 = (C24(C4C24)C4 = C25(C4C25)
C3 = C20(C3C20)C3 = C21(C3C21)C3 = C24(C3C24 ) C3 = C28(C3 (C28 ) C3 = C29(C3C29)C4 = C6(C4Co) 4 = C26(C4C26)C4 = C27(C4C27)C4 = (C28(C4C28)C4 = C29(C4C29)C5 = C6(C5C6)C5 =C7(C5C7)
C4 = C7(C4C7)C4 =C9(C4C9)C4 = C11(C4Cl11)C4 = C12(C4C12)C4 = C13(C4C13)C4 = C14(cCc4cC14) C5 = C10(C5C10)C5 = C12(C5C12)C5 = CI3(C5C13)C5 = C14(C5C14)C5 = C15(C5C15)C5 = C19(C5C19)
C4 = C15(C4C15)C4 = C17(C4C17)C4 = C18(C4C18)C4 = C19(C4 C19 ) C4 = C20(C4C20)C4 = C21(C4C21) C5 = C20(C5C20)C5 = C21(C5C21)C5 = C22(C5C22)C5 = C24(C5C24)C5 = C25(C5C25)C5 = C27(C5 C27)
C4 = C24(C4C24)C4 = C28(C4C28)C4 = (C29(C4C29)C5 = C6(C5C6) C5_=_C7( C5C7)C5 =C9(C5C9) 5 =C28(C5C28)C5 = C29(C5C29)C6 = C7(C6C7)C6 = C8(C6C8)CH = C12(C6C12)C6 = CI3(C6C13)
C5 = C11(C5C11)C5 = C12(C5C12)C5 = C13(C5C13)C5 = (C14(C5C14)C5 = C15(C5C15)C5 = C19(C5C19) C6 = C14(C6C14)C6 = C15(C6C15)C6 = C16(C6C1l6)C6 = C18(C6C18)C6 = C19(C6C19)C6 = C20(C6 C20)
C5 = C20(C5C20)C5 = C21(C5C21)C5 = C24(C5C24)C5 = C28(C5C28)CH = C29(C5C29)Cb = C7(C6C7) C6_=_C21( C6 C21)C6 = C22(C6C22)C6 = C24(C6C24)C6 = C25(C6C25)C6 = C26(C6C26)C6 = C28(C6 C28)
C6 = C8(C6C8)C6 =CI9(C6CY9)Cb6 = C11(C6C11)CO = C12(C6C12)CO = C13(C6C13)CH = C14(Co0 C14) Co = C29(C6 C29)C7 = C8(C7C8)C7 =C10(C7C10)C7 = C12(C7C12)C7 = C13(C7C13)C7 = C14(C7C14)
C6 = C15(C6C15)C6 = C16(C6C16)C6 = C18(C6C18)C6 = C19(C6C19)C6 = C20(C6C20)C6 = C21(C6 C21) C7 = C15(C7C15)C7 = C16(C7C16)C7 = C17(C7C17)C7 = C19(C7C19)C7 = C20(C7C20)C7 = C22(C7C22)
6 = C24(C6C24)C6 = C28(C6C28)Cb6 = C29(C6C29)C7 = C8(C7C8)C7 = C9(C7C9)C7 =Cl11(C7C11) C7 = C24(C7C24)C7 = C26(C7C26)C7 = C27(C7C27)C7 = C28(C7C28)C8 = C10(C8C10)C8 = C12(C8C12)
C7 = C12(C7C12)C7 = C13(C7C13)C7 = C14(C7C14)C7 = C15(C7C15)C7 = C16(C7Cl16)C7 = C17(C7C17) C8 = C13(C8C13)C8 = C14(C8C14)C8 = C15(C8C15)C8 = C16(C8C16)C8 = C17(C8C17)C8 = C18(C8C18)
C7 = C19(C7C19)C7 = C20(C7C20)C7 = C24(C7C24)C7 = C28(C7C28)C8 = C11(C8C11)C8 = C12(C8C12) C8 = C19(C8C19)C8 = C20(C8C20)C8 = C21(C8C21)C8 = C22(C8C22)C8 = C24(C8C24)C8 = C25(C8C25)
C8 = C13(C8C13)C8 = C14(C8C14)C8 = C15(C8C15)C8 = C16(C8C16)C8 = C17(C8C17)C8 = C18(C8C18) C8 = C26(C8C26)C8 = C27(C8C27)C8 = C28(C8C28)C8 = C29(C8C29)C10 = C13(C10C13) C1 = Cl4(C10C14)
C8 = C19(C8C19)C8 = C20(C8C20)C8 = C21(C8C21)C8 = C24(C8C24)C8 = C28(C8C28)C8 = C29(C8C29) C10 = C15(C10C15)C10 = C16(C10C16)C10 = C17(C10C17)C10 = C18(C10C18)C10 = C19(C10C19)C10 = C20(C10C20)
C9 = Cl11(C9C11)C9 = C12(C9C12)C9 = C13(C9C13)C9 = C14(C9C14)C9 = C15(C9C15)C9 = C16(C9Cl6) C10 = C21(C10C21)C10 = C24(C10C24)C10 = C26(C10C26)C10 = C27(C10C27)C10 = C29(C10C29)C12 = C13(C12C13)
C9 = C17(C9C17)C9 = C18(C9C18)C9 = C19(C9C19)C9 = C20(C9C20)C9 = C21(C9C21)C9 = C28(C9C28) Cl12 = C14(C12C14)C12 = C15(C12C15)Cl12 = C16(C12C16)Cl12 = C17(C12C17)Cl12 = C18(C12C18)C12 = C19(C12C19)
C9 = C29(C9C29)C11 = C12(C11C12)C11 = C13(C11C13)C11 = C14(C11C14)C11 = C15(C11C15)C11 = C16(C11 C16) Cl12 = C20(C12C20)C12 = C21(C12C21)C12 = C22(C12C22)C12 = C24(C12C24)C12 = C25(C12C25)C12 = C26(C12C26)
Cl11 = C17(C11C17)C11 = C18(C11C18)C11 = C19(C11C19)C11 = C20(C11C20)C11 = C21(C11C21)C11 = C24(C11C24) Cl12 = C27(C12C27)C12 = C28(C12C28)C12 = C29(C12C29)C13 = C14(C13C14)C13 = C18(C13C18)C13 = C19(C13C19)
Cl11 = C28(C11C28)C11 = C29(C11C29)C12 = C13(C12C13)C12 = C14(C12C14)Cl12 = C15(C12C15)C12 = C16(C12Cl6) C13 = C20(C13C20)C13 = C21(C13C21)C13 = C22(C13C22)C13 = C25(C13C25)C13 = C26(C13C26)C13 = C27(C13C27)
Cl12 = C17(C12C17)C12 = C18(C12C18)C12 = C19(C12C19)C12 = C20(C12C20)C12 = C21(C12C21)Cl12 = C24(C12C24) C13 = C28(C13C28)Cl14 = C15(C14C15)Cl14 = C16(C14C16)Cl14 = C17(C14C17)Cl14 = C18(C14C18)Cl14 = C19(C14 C19)
Cl12 = C28(C12C28)C12 = C29(C12C29)C13 = C14(C13C14)C13 = C18(C13C18)C13 = C19(C13C19)C13 = C20(C13C20) Cl4 = C21(C14C21)Cl14 = C22(C14C22)Cl14 = C25(C14C25)C14 = C26(C14 C26)C14 = C27(C14 C27)Cl14 = C28(C14 C28)
C13 = C21(C13C21)C13 = (C28(C13C28)Cl14 = C15(C14C15)Cl14 = C16(C14C16)Cl14 = C17(C14C17)Cl14 = C18(C14 C18) Cl4 = C29(C14 C29)Cl15 = C16(C15C16)Cl15 = C17(C15C17)C15 = C18(C15C18)C15 = C19(C15C19)C15 = C20(C15 C20)
Cl4 = Cl19(C14C19)Cl14 = C21(C14C21)Cl14 = C28(C14C28)Cl14 = C29(C14C29)C15 = C16(C15C16)C15 = C17(C15C17) Cl15 = C21(C15C21)C15 = C22(C15C22)C15 = C24(C15C24)C15 = C26(C15C26)C15 = C27(C15C27)C15 = C29(C15 C29)
C15 = C18(C15C18)C15 = C19(C15C19)C15 = C20(C15C20)C15 = C21(C15C21)Cl15 = C24(C15C24)C15 = C29(C15 C29) Cl6 = C17(C16 C17)Cl6 = C18(C16 C18)Cl6 = C19(C16 C19)Cl6 = C20(C16 C20)Cl6 = C21(C16 C21)Cl6 = C22(Cl16 C22)
Cl6 = C17(C16C17)Cl6 = C18(C16C18)Cl6 = C19(C16 C19)Cl6 = C20(C16 C20)Cl6 = C21(C16C21)Cl6 = C24(Cl6C24) Cl16 = C24(C16 C24)Cl6 = C25(C16 C25)Cl16 = C26(C16 C26)Cl6 = C27(C16 C27)Cl6 = C28(Cl16C28)Cl6 = C29(C16 C29)
C16 = C28(C16 C28)Cl16 = C29(C16 C29)C17 = C18(C17C18)C17 = C19(C17C19)C17 = C20(C17C20)C17 = C21(C17 C21) Cl17 = C18(C17C18)C17 = C19(C17C19)C17 = C20(C17C20)C17 = C21(C17C21)C17 = C24(C17C24)C17 = C25(C17 C25)
Cl17 = C24(C17C24)C17 = C28(C17C28)C17 = C29(C17C29)C18 = C19(C18C19)C18 = C20(C18C20)C18 = C21(C18 C21) Cl7 = C26(C17C26)C17 = C27(C17C27)C17 = C28(C17C28)C17 = C29(C17C29)C18 = C19(C18C19)C18 = C20(C18 C20)
C18 = C24(C18C24)C18 = C28(C18C28)C18 = C29(C18C29)C19 = C20(C19C20)C19 = C21(C19C21)C19 = C24(C19C24) C18 = C21(C18C21)C18 = C22(C18C22)C18 = C24(C18C24)C18 = C25(C18C25)C18 = C26(C18 C26)C18 = C27(C18 C27)
C19 = C28(C19C28)C19 = C29(C19C29)C20 = C24(C20C24)C20 = C28(C20C28) C20_= “C29(C20C29)C21 = C24(C21C24) C18 = C28(C18C28)C18 = C29(C18C29)C19 = C20(C19C20)C19 = C21(C19C21)C19 = C22(C19C22)C19 = C24(C19C24)
C21 = C29(C21 C29)C24 = C29(C24 C29)C28 = C29(C28 C29) C19 = C25(C19C25)C19 = C27(C19C27)C19 = C28(C19C28)C19 = C29(C19C29)C20 = C22(C20C22)C20 = C24(C20C24)
C20 = C25(C20 C25)C20 = C26(C20 C26)C20 = C27(C20 C27)C20 = C28(C20C28)C20 = C29(C20C29)C21 = C22(C21C22)
C21 = C24(C21C24)C21 = C25(C21 C25)C21 = C27(C21 C27)C21 = C29(C21 C29)C22 = C25(C22C25)C22 = C26(C22C26)
C22 = C27(C22 C27)C22 = C28(C22C28)C24 = C25(C24 C25)C24 = C27(C24 C27)C24 = C29(C24 C29)C25 = C26(C25 C26)
C25 = C27(C25 C27)C25 = C28(C25C28)C25 = C29(C25C29) C26_= C27(C26 C27 ) C26 = C28(C26 C28)C26 = C29(C26 C29)
C27 = C28(C27 C28)C27 = C29(C27 C29) C28 = C29(C28 C29)
22: CO0C1 C3C4Ch
C6 C7C10C12C13 C15
C17 C19 C20 C21 C22 C24
C25 C26 C27 C28 C29
196: CO = C1 ,C0 = C3,C0 = C4,C0 = C5,C0 = Co6,
C0 = C7,C0 = C10,C0 = C13 ,CO = C15 ,CO = C17 CO_=_C20 ,
CO0 = C21,C0 = C22,C0 = C24,C0 = C25,C0 = C26,C0 = C27,
CO = C28,C0 =_ C29 ,Cl = C3 ,C1 =C4,C1 =C5,C1 =C6,
Cl1 =C7,C1 =C10,C1 = C13 C1 = C15 C1 = C17,C1 = C19,
Cl =C20,C1 =C21,C1 = C22,C1 =C24,C1 = C26,C1 =C27,
Cl = C28,C3 =C4,C3 = C6 C3 = C7 C3 = C10 C3 C12,
C3 = C13, C3 = C15,C3 = C17,C3 = C19 ,C3 = C20 ,C3 = C21,
C3 = C22,C3 = C24,C3 = C25,C3 = C26,C3 = C28,C3 = C29,
C4 = C6,C4 = C7,C4 = C10 C4 C12,C4 = C13 C4 15,
C4 = Cl17,C4 = C19 ,C4 = C20 C4 = C21 ,C4 = C22 ,C4 = C24,
C4 = C25,C4 = C26,C4 = C27,C4 = C28,C4 = C29,C5 = C6,
C5 = C7,C5 = C10 C5_— C12 C5 = C13 C5 = C15 C5 = C19,
C5 = C20,C5 = C21,C5 = C22,C5 = C24,C5 = C25,C5 = C27
C5 = C28,C5 = C29,C6 = C7 C6 = C12 C6 = C13 C6 = C15,
C6 = C19,C6 = C20 C6 = C21,C6 = C22,C6 = C24,C6 = C25,
C6 = C26,C6 = C28,C6 = C29,C7 = C10,C7 = C12,C7 = C13,
c7 = Cl15,C7 = C17,C7 = C19,C7 = C20,C7 = C22 C7_—_C24,
C7 = C26 C7 = C27 C7 = C28 C10 C13 C10 = C15,C10 = C17,
C10 = C19 C10 = C20,C10 = C21 ,C10 = C24 ,C10 = C26,C10 = C27,
C10 = C29,C12 = C13,C12 = C15,C12 = C17,C12 = C19,C12 = C20,
Cl2 = C21,C12 = C22,C12 = C24,C12 = C25 ,C12 = C26,C12 = C27,
Cl2 = C28,C12 = C29,C13 = C19,C13 = C20,C13 = C21,C13 = C22,
C13 = C25,C13 = C26,C13 = C27,C13 = C28,C15 = C17,C15 = C19,
Cl5 = C20,C15 = C21,C15 = C22,C15 = C24,C15 = C26,C15 = C27,
Cl5 = C29,C17 = C19,C17 = C20,C17 = C21,C17 = C24,C17 = C25,
Cl7 = C26,C17 = C27,C17 = C28,C17 = C29,C19 = C20,C19 = C21,
C19 = C22,C19 = C24,C19 = C25,C19 = C27,C19 = C28,C19 = C29,
C20 = C22,C20 = C24,C20 = C25,C20 = C26,C20 = C27,C20 = C28,
C20 = C29,C21 = C22,C21 = C24,C21 = C25,C21 = C27,C21 = C29,
C22 = C25,C22 = C26,C22 = C27,C22 = C28,C24 = C25,C24 = C27,
C24 = C29,C25 = C26,C25 = C27,C25 = C28,C25 = C29,C26 = C27,
C26 = C28,C26 = C29,C27 = C28,C27 = C29,C28 = C29,
4
id:20 level: 2
23: COC1 C3C4C5h
C6 C7C10C12C13 C15
C17 C19 C20 C21 C22 C23
C24 C25 C26 C27 C28 C29
218: CO = (CO Cl1)C0O0 = C3(C0C3) CO_=_C4( CO0C4)C0O =C5(C0C5)C0 = Cob(C0O0Cob)
CO = C7(C0C7)C0O = C10(COC10 ) CO = C13(C0 C13) _C15( CO0C15)C0 = C17(C0C17)CO = C20(C0 C20)
CO = C21(C0C21)C0O = C22(C0 C22 ) CO = C23(C0 C23 ) 0 = C24(C0C24)C0O = C25(C0C25)C0 = C26(C0C26)
CO = C27(C0C27)C0O0 = C28(C0OC28)C0O = C29(C0C29)C1 = (C3(C1C3)C1 =cCc4(C1C4) C1_=_C5( Cl1Ch)
Cl =C6(C1C6)C1 =C7(C1C7)C1 =C10(C1C10)C1 =C13(C1C13)C1 =C15(C1C15)C1 =C C17(C1C17)
Cl = C19(C1C19)C1 = C20(C1C20)C1 = C21(C1C21)C1 = C22(C1C22)C1 = C23(C1C23)C1 = C24(C1C24)
Cl = C26(C1C26)C1 = C27(C1C27)C1 = C28(C1C28)C3 =(C4(C3C4)C3 =C6(C3C6)C3 =C7(C3C7)
C3 = CI10(C3C10)C3 = C12(C3C12)C3 = (C13(€C3C13)C3 = Cl15(C3C15)C3 =C17(€C3C17)C3 = C19(C3C19)
C3 = C20(C3C20)C3 = C21(C3C21)C3 = C22(C3C22)C3 = C23(C3C23)C3 = 24(C3C24)C3 =C25(C3C25)
3 =C26(C3C26)C3 = C28(C3C28)C3 =C29(C3C29)C4 =C6(C4C6)C4 =C7(C4C7)C4 = C10(C4C10)
C4 = C12(C4C12)C4 = C13(C4C13)C4 = CI5(C4C15)C4 = C17(C4C17)C4 = C19(C4C19)C4 = C20(C4 C20)
C4 = C21(C4C21)C4 = C22(C4C22)C4 = C23(C4C23)C4 = (C24(C4C24)C4 = C25(C4C25)C4 = C26(C4C26)
4 = C27(C4C27)C4 = C28(C4C28)C4 = (C29(C4C29)C5 =C6(C5C6)C5 = C7(C5C7)C5 = C10(C5C10)
C5 = C12(C5C12)C5 = C13(C5C13)C5 = C15(C5C15)C5 = C19(C5C19)C5 = C20(C5C20)C5 = C21(C5C21)
C5 = C22(C5C22)C5 = C23(C5C23)C5 = C24(C5C24)C5 = C25(C5C25)C5 = C27(C5C27)C5 = C28(C5C28)
C5 = C29(C5C29)C6 = C7(Co6C7)Cb6 = C12(C6C12)C6 = C13(C6C13)Co = C15(C6C15)C6 = C19(C6C19)
C6 = C20(C6 C20)C6 = C21(C6C21)Co = C22(C6C22)CH = C23(C6C23)C6 = C24(C6C24)C6 = C25(C6C25)
C6 = C26(C6C26)C6 = C28(C6C28)C6 = C29(C6C29)C7 = C10(C7C10)C7 = C12(C7C12)C7 = C13(C7C13)
C7 = C15(C7C15)C7 = C17(C7C17)C7 = C19(C7C19)C7 = C20(C7C20)C7 = C22(C7C22)C7 = C23(C7C23)
C7 = C24(C7C24)C7 = C26(C7C26)C7 = C27(C7C27)C7 = C28(C7C28)C10 = C13(C10C13) C1 0 = C15(C10C15)
C10 = C 7(C10C17)C10 = C19(C10C19) C10 = C20(C10C20)C10 = C21(C10C21)C10 = C23(C10C23)C10 = C24(C10C24)
C10 = C26(C10C26)C10 = C27(C10C27)C10 = C29(C10C29)C12 = C13(C12C13)C12 = C15(C12C15)C12 = C17(C12C17)
C12 = C19(C12C19)C12 = C20(C12C20)C12 = C21(C12C21)C12 = C22(C12C22)C12 = C23(C12C23)C12 = C24(C12C24)
C12 = C25(C12C25)C12 = C26(C12C26)C12 = C27(C12C27)C12 = C28(C12C28)C12 = C29(C12C29)C13 = C19(C13C19)
C13 = C20(C13C20)C13 = C21(C13C21)C13 = C22(C13C22)C13 = C23(C13C23)C13 = C25(C13C25)C13 = C26(C13C26)
C13 = C27(C13C27)C13 = C28(C13C28)C15 = C17(C15C17)C15 = C19(C15C19)C15 = C20(C15C20)C15 = C21(C15C21)
C15 = C22(C15C22)C15 = C23(C15C23)C15 = C24(C15C24)C15 = C26(C15C26)C15 = C27(C15C27)C15 = C29(C15 C29)
C17 = C19(C17C19)C17 = C20(C17C20)C17 = C21(C17C21)C17 = C23(C17C23)C17 = C24(C17C24)C17 = C25(C17C25)
C17 = C26(C17C26)C17 = C27(C17C27)C17 = C28(C17C28)C17 = C29(C17C29)C19 = C20(C19C20)C19 = C21(C19C21)
C19 = C22(C19C22)C19 = C23(C19C23)C19 = C24(C19C24)C19 = C25(C19C25)C19 = C27(C19C27)C19 = C28(C19C28)
C19 = C29(C19 C29)C20 = C22(C20C22)C20 = C23(C20C23)C20 = C24(C20C24)C20 = C25(C20C25)C20 = C26(C20C26)
C20 = C27(C20C27) C20 = C28(C20C28)C20 = C29(C20C29)C21 = C22(C21 C22)C21 = C23(C21C23)C21 = C24(C21C24)
C21 = C25(C21 C25)C21 = C27(C21 C27)C21 = C29(C21 C29)C22 = C23(C22C23)C22 = C25(C22C25)C22 = C26(C22C26)
C22 = C27(C22C27)C22 = C28(C22C28)C23 = C24(C23C24)C23 = C25(C23C25)C23 = C26(C23C26)C23 = C27(C23C27)
C23 = (C28(C23 C28)C23 = C29(C23C29)C24 = C25(C24 C25)C24 = C27(C24 C27)C24 = C29(C24 C29)C25 = C26(C25 C26)
C25 = C27(C25C27)C25 = C28(C25C28)C25 = C29(C25C29) C26_= C27(C26 C27 )C26 = C28(C26 C28) C26 = C29(C26 C29)
C27 = C28(C27 C28)C27 = C29(C27 C29)C28 = C29(C28 C29)




